ouoooogoodlIl
20 bbbt otgtn

OO 00 ogoogg i

20010 100 1700

keywords: OUO0O0O0O0OO0OOO0OOOOOODOOOOOOOOOOO,0000O

1 OJdodooooboooooobd

OCamlODO000O2000000000000O0000O0O0DO0O0ODO geecU javac OO O
gbbgoboooboboobbobobooubbobobuoobobuobbdd ocamledO
gogobbbbbbbououooooooobobbbibdodd ccaml UOOOOOOOMO
00o0o000o0o0oooo@ooooo)boooooo0o0 - 00000 -00O0OO00OO
00000000000 000000000000000000000oo0oooooo
gobodobbogdbbuobbuooobboogobooobbbooobuoooboon
gobobdobbboobobboobobbobobobooobbooobbooobboob
gogbbobuogoobobbuoooobbobuooouoboooo

OO000000OLisp, Scheme OO0 0O0O0O0O0OO0ODOOOOOOOODODOOODOOODOO
gobobogoobobodao

gobbobuoodb ccaml UUOODDODOOOOODOODO

1.1 ODOooggd
00000 (000000000000000)0000000000 ocaml DOOOO
0000 (quena), 0000000000 OONO)

quenaj, ocaml
Objective Caml version 3.02

#

#ugbobbuooobbbuoooobboooobon
gobbobooobobbbooooboobobooooboobon

00000 read-eval-print 00 000000000000

1



#t1+1;;
- : int = 2

0000000000000 000000#000000000000 (abe)ODOOOO0O
0000000000000000 (abc)00O0O0ODODO ;; 0000000000 OOO
0000000000000 0O00000C0OoO00O0(@COooDooooOoUooonD)O0O
00o00d00ooooooo0U00UoooooO (o0oUoooDoooOoOUooDooOoDO
0000000000~ 00000000000 (int)00000 (2)0D000O0O00OO
gobooobobooooooobooobooboobooooooobooobboOoDboo
gobooboobooboobobobooboobooobog

#1+ 2

# (1 +2

000000 ;; 0000000 Control-COOOOOOOOOOOODODOOOOOO
goooooooogno
goooogooooobooogooognog
#2+3 -,
Characters 9-11:
Syntax error
# 5 + "abc";;
Characters 4-9:

This expression has type string but is here used with type int
#4/ 0;;
Uncaught exception: Division_by_zero.

(0OooOoOO0U0U0U0UU0DUDOoOooDODOOCOOOOO0U000OODUDODOoOoOooDDD) 10
go0ooboobOobooOooooobobobooboobo0obobobooobobobobooooc
O Jwa 00000000000 (OOO?)00000O0O0200000000000000
00000000000 00O0 (typechecking) D0 D0 D0O000000O0O0O0OCaml 00O+
gogbbbuooobbbuooobobbbooobbbuooo bbdag "abe"oggn
gobboogboboodgbboogbbogbbabobooobooobboboboboon
0000000000000000000000 (D00 +000)000D0DO0DO0DO0O0O0O0
O000000(type) D00 O000 OCaml OO0 OOOO0ODOO0OODOODOOOODOO
gogbbboogobbboooobbooobbboobuooobobbuooobbbooob
000000 (exception)—0O 000 00000 —00000000O00OO0OO0O0OO0OOOO
ggbbbuogooobbobuoooobbbdooobobbboooobbbboooobbn

O000000000D00D0OD00O Control-D 0D ODOODOO #quit;; DO0DOODOODOO
ggg

quenaj, ocaml
Objective Caml version 3.02
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# #quit;;
quenal,
O00b0b0bOOoooboOo0o0obO0obD0boUD ccaml JOOODOODDOODODODOO
OO00000000D0OObackspace DOODOOODOOODOOODOO Control-COODOOO
O00000D0b00ADODOO0ODO Emacs, Mule D OOOODOODOOOOOOODOO

1.2 ODO000OO0O0OoOb0o0oooobood

ccanl OO UOODOUOOOOOOODLDDOOOODOOOOLODUOObLOOObLOObLbDOO
oot #quit bggoooooooooooo
gobboooobbboooobbuoooobbbouobbibooubbibOdU #use,
#cd 00 0000000000000 [MoooDoO0OO

#tuse U0 U OOOODOOOO0OOODODOOOODLODOOOOODLDODOOOOLDbDOO

quenaj, cat two.ml
1+ 1;;
quenaj, ocaml
Objective Caml version 3.02

# #use "two.ml";;
- : int = 2
#tcd D0#use OO OO0O0ODOOCOOOO0O0OO0O0OOD caOO0OD0ODOOOOODODOO
gobooogoooooooouooogobon
godoogoooooogoooooooggooooooooooog oo oogogo
goono

# 1 + #use "two.ml";;
Characters 5-6:
Syntax error

goboobooboooob booobbooobbooobboobbooobbooon
0000o0o000ooooooD (0 x)0000oooooooo(roooooooood
0000000000000)000000000O0O00000O0ooO

puCcO0obooboboooooooooobooboooobobooboboboooooboon
googgbogbobooobbobobboobbooobbuooobboooboboon
ggooobod

2 UJOoooooood

OCaml 00O OOO0O (expression) 000000000 (value)(DODODOO 1+ 200
03000)0000000000000000000000000o0oOoOoOOOo0O0OO

3



O (evaluation) D0 0000000000000 O0OOOOOOODOOOOOOOOOOO
gboobugobgoboobobbobbobbobbooboobuoobuoobdr + 2
00000000000 (subexpression) 10 20 + 0000000000000 OO0O0OO

0000000000000 00000Caml D0O0O0ODOOOOODOODOD (ODDODODOOO
0000O0)000ooooooo (boooooo00oO0OoUoUo)oooooooooood
gogbobboooobobobooooobon

ooo0ooooOOobOobOooOo boooobDo 1+ 20000002+ 100000 3
o0o0o0oO0o0oooo0oooooO(DUoO0)DooUooUooooOooooo
O000000000000000000000000 (referential transparency) O O
oooooooooobooooooooon

ooobool + 20000b000bob0obobooobooboboooo 1+ 20
oobooooboooboooobooobobuoo oo oooooooon
(0000000000000 000000)00000D0OobooOoOOOOo00oOOO
O0000000000000 (side-effect) 000000000000 OOOOOOOO
0000000000000 (@Uo0oooo0o00o0oU0O0DUoOODbOO0OOoUoOOo
ooooon)

00000000 bo0ooooboo0ooDbObO0oooDobooooDboooooboo
dobooboobobooboobobooboobbooobogbobooobooooo
OO0 BASIC, COO0O00DO00O00OODO (émperative language) 000000000000
O00000oO0o0o0o0o00ooO0O00O0O0O00OOO0DOUCODOOUOOD (booOoo
0)oooo

OOooOoO0oDbOo0 booooCaml OO OODOOOOO ¢ +j000000000D0O0
000000000000 000D00000DO00+000 OCamlDOOODODOOO
ooooo0o0o00d, jO0(00000O0ODO)000DOOOOO0O00OO0ODODOODOO
0000000 00bOOoD0O00 OCamlO 1+ 20 ¢0 1,5 02000000000
vbobooooboooooooooooooooooooooooboooooooobo
O (metavariable) 00 0000000000000 0O0 (DODODOOOO)OOOO0OO
gboogooboobooobooboobobooboobobooboobobooboo
gooaoo

2.1 unit
unit 00 O (unitvalueDDD)DDDDDDDDDDDDDDDDDDDDDDDDDD

# O;;
- : unit = ()

goboboobboodobboobobbooobbooobbuooobbobboboob
goboogboboobbuogbuogobbooobboobuooobbooobboon

O0wit00000000000CO00000 void0OOOOOO%000000000
00@O000)00Doo0oo00000wmit00D000000000ODODOOOOO

000 CO voidO0OODOOODODOOOOODOOO



2.2 int[Q

ooooooog...,—2,-1,0,1,—2,...00000000000000000 +, -, %, /,
D00000md 0000000000000000000000000000000

e iland j,i lor j, i 1lxor j,lnoti: 00000000 /O000/000000/0000O
goodd

e ilslj:i00000D0 ;000000 (=ix20meds2)g
e ilsrj: 000000000 ((0DO)0000MODOODOOOOOOOOOOODO)

ejasr j: 000000000 (00)0O0O0D(DODDODOOOO 00000000
oo0ooooon)

2.3 floatd

(D gggooono )E]D gooooo3.1415 000000000 i1ooboooogobon
0 31.415e-1 (::31.415 X 10‘1) Ododoooopooogopooogooouoboogonono
godooooogooooogoooooogooobooooooooooooggo
od+.,-.,*.,/. 00000000000 0000000000000 0O+. 0oOoOooagd
gopooggono E]/D 0000000 int_of_float, float_of_int O U OOOOON
gooond U] gdo0cCcoo0oUoooooooouoooooooono D]
# 2.1 +. 5.9;;
- : float = 8
# 1 +. 3.4;;
Characters 0-1:
This expression has type int but is here used with type float
# float_of_int(1) +. 3.4;;
- : float = 4.4
# 1 + (int_of_float 3.4);;
- : int = 4
0000000000 (00000000 00oDoooDooooog sin, cos, tan, O 0O O
sqrt U O0Oooooooooobuoooooobooooobon

2.4 charl

ASClIooOoOOOOOoOoOoOoOOD 000000 oboo0oooloobooboboooo
000 \"000)D000Int0000000 char_of_int, int_of _char 0000 OO
ooOo

SMLOOODOODOOODODOOOD )0 (000000)00000000000000000 (O sind
00)0000000000000000000000000000000000000000000000
oooooooooooo Ooooo




O 1. 00000000004

\\ |[0Dooooooo()
\» |000 (°),’000000
\" | 00000 (W, 000000

\n oo
\r |(0O000)0O0
\t goono

\b ggooobod
\ddd | ddd 0 1000 ASClIIODOOOODOOO

"\1207 5

: char = ’x’
int_of_char ’Z’;;
: int = 90

I H O

2.5 string[]

gbooboboobooooboobo "obobobobooboboobobobon
oo\ odboooolbooboooobooooboboboooooocooooooNooo ™
gbooobooboobo

s17s 0000000 s, 00000000O00OO00ODODOOODOs. 10O sO0 0
gboobgoobooboobon

# "Hello," =~ " World!";;
- : string = "Hello, World!"

2.6 booll
00000000000 true (0), false (0)0OODOOODOOOOOOO
enotb: bO0OOOOOO

© by && b, 000 by &b by, b DODODOOOON ODOD0OODO falseOODOO by O
goboooogd

o by || b OO0 byorbe: by, b DODOOODOOU ODOODOO true 00O by O
goboboood



ggooooooobbbobobbbiboodobibodoooooououooooboobobbn
gogd

eci=exUe,ee 0000 O0O0DOO0O0DOODO
e c; <>ex Ue,ee DUODDODODODODOOODOOODODO

e ci<eg,e1>e9,e1<=¢eg,e1>=ex e, OO OOOODOOOMN

# (not (1 <2)) ||l CO = 0O);;
- : bool = true

# 3.2 >5.1;;

- : bool = false

# ’a’ >= ’77;;

- : bool = true

#t 2<4.1;;

Characters 0-1:
This expression has type int but is here used with type float

O00if-0: if bthenejelsee, OO ODOODOODOODOODOODObLO true 000
bbb egU00false00OUOO eo UDOODODOOOOODOOO

# (if 3 + 4 > 6 then "foo" else "bar") ~ "baz";;
- : string = "foobaz"

godoobibib e,e 000000 bbbObbbO0O000if-00 else-000on
00000000000 else O ODOODDODOODODOODODOOO(M@MOODO then-OO0O unit
000000000o0ooon)

27 OOouooooooad

OCaml OO0 (type) DOOOODOOOOOOOODODOOODOOODOOOODOOODDOO
0000000000000 o0000oo0obD0 10 int000000000O00DO000
O000000000000000 000000+tree 00000000000 ODOO (type
error) 00 0000000000000 O0O0OOOOOOOOOOOOOOOOOOOOO
000 (type system) D0 0000000000000 O00O0O (typecheck) DO DOOOOOO
gooooooobooooobnoooooonooooonooongoooon
0oooooooooooooooooooooooooooooooooooon
goodoooooobbboooooooobobbb oo oooooob

Lisp, Perl, Postscript 00 0000000000000 0OOOOOOOOOOOOOOO
gooooooobooooooobooongooonbooooonoooon
O00000000000000000000000000000000000 (dynamically
typed language) O 0 O O



ooboooooc, C++, Javal00000O0OOOOODOOODOODOODOOOOOO
gboooboobobooboboboooooboobobobDobobobobooobooboOoo
0000000000000000000O0 (statically typed language) 0 O 040 OCaml O O
gooobooobooboon

gooooboobooooboocCco C++0b0obboooobooooobooooboboo
000000o00b00O0b0oDO0o0b0obOOoDo0o0obOobODOobOoDOoOoDbOOobDOoDOooOoon
(0000O0O0)0oO0o®”0000CO000000000o0UOoUOoOooOooooooOOn
0 OCaml 000000000000 OOOOO0O0OOODOOOOOOODO(DOO)OOO
O0000O0O0ODDO0O0O0O00O0C00O0O0O0O000O00000000o00U (strongly typed)
00oooooooooo

00ooobOoooooobobooobbooobobobDooboooooobooon
00000000000 unsafe-dynamically typed 000000000

’ H statically typed dynamically typed

unsafe | C, C++, etc. —

safe Java, ML (OCaml, Standard ML), Haskell, etc. | Lisp, Scheme, Perl, PostScript, etc.

goboogobbuobbooboboboobbuoobooobboobbuooobboon
ggbbbugoobbbouobbuoobbboooobbboooobbboooob

if (0000 ) then 1 else "foo"

0000 (0000)000 true0 0000000000000 OOelse-000O0O00O0O
gboboboodgbbobobbodobbooobbooobbooobbuoobboobbob
gobbogboboogobobobogobbuooobbuooobbooobbobbobab
gobbboooobboooobboooobbboodbooobboooobbooob
gobogobuogoboodobbuooobboooobobobooobbuooobboon
ggbbbuoooobbbooaobbboooobbbooobobbod

gboodbouogbobobgobodbogobooboboobogbooboboboobobd
ggbobbbbogbbuoooooobbbouooooobbbbooooboooaob
ggboobooogoon

2.8 OO0

Exercise 2.1 00 0O00O0OO0OODOOO?Y

‘0000000000000 00000000000Lsp00000000000O0O0O0OOOOOO0
gbobooooobooooobooooboobooooobooooboboooonog

‘0000 00000000000000000000(OCamlO0)000000000O0O000O0O0
00o000ooo000oo0ooOo00oooOoO00oooOOooooooooOo(Coo osoooooo
00o00o00ooO0o0oU0oooooooooooon)
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1. float_of_int 3 +. 2.5

2. int_of_float 0.7

3. if "11" > "100" then "foo" else "bar"
4. char_of_int ((int_of_char ’A’) + 20)
5. int_of_string "Oxff"

6. 5.0 *x 2.0

Exercise 2.2 00000000 (DOO0DO00O0O0DOOOO0ODOOOOOO)ODOOOOOOO
gbobboooboboodgbboobbabbooobbooobuooobbooooboon
gobboboooobobooooooboooobbbooooobbboooooboboboo

1. if true&&false then 2
2. 8%x-2
3. int_of_string "Oxfg"

4. int_of_float -0.7

Exercise 2.3 D0 0O0O00O0O0ODOOODOOOOOODOODOOOOODODOODOOOOODO
goooobbobobbtooooooooooboboboobobbooooooooobbbo=00
ggbobobuooooboboooon

1. not true && false = true
2. sin 3.14 /. 2.0 *x 2.0 +. cos 3.14 /. 2.0 *x 2.0= 1.0

3.sqrt 3 x 3+ 4 *x4=5(00)

Exercise 2.4 [ by && b, OO if-00 true, false, by, b 0000000000 OOO by
1, OOOOOOOOO

3 Uouod

gboboggboogbbuoobobuoooboobboobbuogbobooobboon
gbouogobbooobboodobbuoobobooobbooobbooboboobboob
Ulet00ogon



3.1 let U

Ubd0let00O00O0D0OO0ODOO

# let pi = 3.1415926535;;
val pi : float = 3.1415926535

b piD00O0O0O0O0DOOO0O0ODOO0O00 3.1415926535 U UOODODOOOOMO
gbobobooobooobobbodbbuoobbodbbdvvalDlO0OO pidbogn
0000000 (0000 3.1415926535)0 0000 00000000000000O pi O
gbbudbbuoobbodbbpeib0O000O0OO03.1415926535 U ULOOOOOOOMO
goooo

# let area_circle2 = 2.0 *. 2.0 *. pi;;
val area_circle2 : float = 12.566370614

goood
let = = e¢;;

goobbobbodooud 000 ebbbbO0oooooobbbbooooooon
gogd

e 1IIIIOIOOOOODODOODOODODODONO (abstraction) 00000000 O0OOO
ggbbbuoooobbbuoooobbbouooooboob

e HOUUOOOOLODODOUOOOOODLDLDLDDOUOOOODLDDLOLDDODOUOOLOOODLDDODD
gobboboggbooboood

gddodoudooooooooouooooooouoodoooooooouoooooo
gbdodootooooouoooooodouobooooouonooooouoooon
gddodoudooooououooouoooouooouoooouooooooooo
UobodbbooobbbopibbObbOOs3 141592663 00O UOODODOOOOOMO
gddodoooooououobooouoooouoooooooooooouooooon
0000000000000 00000O000D)00O0O00DO0O0DOO0D0OOOOOO
goog
OCaml DO0DOO0O0OO0O0ODODODODOOOOODDDODOC, C++00000D0DODOOO0O

gdobdooooodooooououoooouoooooouooooooouooa
godoobooooooboooouoooooaa

# let one = 1;;

val one : int =1

# let two = one + one;;
val two : int = 2

# let one = "One";;

val one : string = "One"

# let three = one ~ one ~ one;;
val three : string = "OneUneOne"

10



and as assert asr begin class

closed constraint do done downto else
end exception external false for fun
function functor if in include inherit
land lazy let lor 1sl lsr
1xor match method mod module mutable
new of open or parser private
rec sig struct then to true
try type val virtual when while
with

0 2. 0Caml O0O0OOO

O00OOOone 00O 100 "One" OODOOOOOOOODOOODDOODODOOOOOOO
000do0o0o0oodbOoooo0bO0bO0b0oooooooooobOOooDoooboOoooooon
oooodoooo

00000000000000000000000(M0000O0O0D0OoooDO)000O
O00000000000000000D01et000000O0 (scope)d (DOOOOOOO
000)000000000 (ecaml D0OD00OD0)00O0D0OO0OO0OO0OOO0DOOOOOOOOOO
000000000000 (lexical scope, static scope) OO0 OO

OCaml DO 0O0O0ODOOO0OODDODOOODODOOODODODOOODDODOODODOOOOODOOO
00d00doOdoodoOdoDOoobodoodooooooD0bOoooooooooooooon
0000000000000 000 “+(0)y 0000000000000 oooooog
let-0 00 0000000000000 (ODD0 let000O0O0O0OODO)00OOO ;000
Oooooooooooad

# let pi : float = 3.1415926535
# let e = 2.718281828;;

val pi : float = 3.1415926535
val e : float = 2.718281828

gogbbobooooboboboogobobboooobobboooobooog

00000 00000000O000000000000
1. 0000000000000000000 (L)00
2. 0000000000 (A...Z,a...2,0...9000000000000000 ()

Oo0ooOOo0o0obOo0oOoboboooboboo2o oCamlOODOOOODOOO _OOODOOO
goboboggboobobod

11



ERERE U

sin ggoono
max_int | 1073741823

O l:ocaml DO OOODOOO

IEEER 0
one 1
two 2
one "One"
three | "OneOneOne"

U 2:let00000O0O0OOOO

3.2 000 lexical scoping

goooooooobooooooobooooooooboooooooooboOooooooo
O00000O000ooo0Oo0oo0oo0oooooOo0UoO (DoooooO)ooooo
0000000000000 00000000000000000000 (environment) 0O
00000000000 0000000000000000000 (top-level environment)Od
0000000 (global environment) 0 0 00O

O0O0O0Oocaml 0O0OD0OO0O0D0O0ODsin, max_int OO000O000O0O0O0O0O0DO0ODOO
O0ooooooo (oo

letO0000O0O0O0O0OOO0OODOOODOOOODOOOOODODOOODOOODOOOO
00000 (0R)0Do0o0o0o0o0Oo0o0o0o0oOOo0DoOO0LOoOOoODOOoODOODO
ooooobooooooooooobooooobboooooobbooooboboOoooooOoo
gooobooboooooooooobooboooooboooobooooobooooobooooOoo
letO0000000O0O0OO0DOOOOOOODOOOODOOOOOO

3.3 U

Exercise 2.5 D000 0O00O0OO0OOOOOO0OOO0O0O0O0O0O0O letO0O0O0OOoOoOoO
goog
a_2’ Cat > 0 Televen ’ab2_

12



Exercise 2.6 U0 let UO0OOOOOODO letx=e;; OODOOODODOOODOOOO 20O
Ub ed0boboooobobmboboobobibtd. 000000000 DOODLO0
Udb0O0Olet x =e0000000ooooonO

4 O040OQOn0

goooobooboooooopooooobooooobboooooooboboooooCaml
0000000 (function) DO OO
gbobuobd pitggobobobuoobobobuobouooobobanodn

(00 ) *. (OO ) *. pi

gbbodbogoboooobbobodobuodobbooobobuoobbooooboonn
gobogobboboobooobbooobobbooobobbooobboobbmob
0000000000000 00000DO0ODOODO0O00000 (00000)00000d
0 0O (parameterization) D0 0000000000000 O00O0O0OO0OOOOOOOOOO
ERERE

OCamlO0O0O0O0DOOOOOOODOOOODOODOOOOODOOODO

# let circle_area(r) = (* area of circle with radius r *)
# r *x. r *, pi;;
val circle_area : float -> float = <fun>

000000 let 0000000 O00OO0DO circle_area U0 ODO0OO0O0OOOOOOO0O
OO0 rO000O0O0OOO0OD0DODODOODODODODODODODODODODODODODODODODODODODODOD=
O00000«r . r*. pi000000((body) DO0ODODDODOOO0O0DODOOOOODOOOO
000G, 0000000000000 O00000ODDOOOU00OUDOODO)0DODOODOO
OU000000000000 circle_arealld 00O float—->floatO O OO <fun> OO OO
0000000 ->00(0000000)->(0000)00000000 circle_area [
Oo0ooooooooooooodooobooooooooooooooooooo->0O
000000000000000000000000 (type constructor)y 00000000 0
0000000000000 0000000«xsuwn> 0 00000O0O00O00O00O0O0OOOOOOO
00oo00oooooooooO0U0Uooo0oUooo (<P oo0)0oooooooo

O00000000do0dod int_of_float UOUOOOOOOOOOOOOOOOONO

# circle_area 2.0;;
- : float = 12.566370614

000000 (0000 (function application) D000 )0000000000000000
gbbooobd -rbdugd 2.00b000bogb2.0x. 2.0, pil00O0O0O0O0OOO0OO
gobobobooogoon

OCaml OO O0OO0O0OOODOODOODOODOODOOOOOOOOO0OOOOOOOOOO
O00000000000000000000000 (type inference) 00000000000

13



0000000000000 ooboooogbooooo
0000000000000 oooooooboooooobooooobooooo
ogoogd
# let circle_area(r : float) : float = (* area of circle with radius r *)
# r *x. r *, pij;;
val circle_area : float -> float = <fun>
00000 =0000o0oog
Oo00oo0o0oooooooooood

let f (parameter) [: t] = e
where (parameter) = z | (x: t)

000%[)000000000000fO000000O000O0OOOt0000O0O0OO0OO0
00000o0oo0o0o0o00ooo0o0ooDoo0UoooooUoDooOoUoO(@ooo
0000000000000 00000000O0O0O0) 000000000 OODOOO0O0
gboboboobboodgbbooobgobooobbooobbuobbboobobooboon
ERERN

lexical scoping U0 O DO0O0 OO0OOODO pi 0O0lexical scoping DO OO0OOOO
Uobo0ooobooboobooboboOobbboObOcircle_area 000 pi OO0
O000OOcircle_area 00000000000

# let pi = 1.0;;

val pi : float = 1

# circle_area 2.0;;

- : float = 12.566370614

OooDoooDooobOoobboO0oU pi0D0O00O00O dynamic scoping OO0 OO0
00000000 (D00 Emacs Lisp) OO O O dynamic scoping 000000000
004.0(000 2.0 x. 2.0 x. 1.0)0000

4.1 0000

Exercise 2.7 U0 0000000000 O0OOO00D0O0O00OO0OO fleorOOO0OOOoO0O

1. USO0 (00)0000000(00)0000000 (00010000000)0(0
0000000200000000000000)0000 1$=121.0400000

2.0(00)0000000USO0 (DODO0D0DO0O0DOO0D0O0OOD)OD0D0DOODOO (OO
01000000000) 00000 1$=1210400000

3. USO0(00)0000000000 (00 ) dollars are (0 ) yen." 000000

4. 0J00o0oObooo0ooooboooooobboobobbooooobbbbboogoo
0000 capitalizel (O: capitalize ’h’ = ’H’, capitalize ’1’ = ’1°)

‘00000000D00000000D00O0000
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A caml-mode in emacs

ftp://ftp.inria.fr/lang/caml-light/bazar-ocaml//0 0 OCaml O Emacs (XEmacs,
MuleOOO)O0OOOOOOOO Emacs Lisp 00000 ocaml-mode-xxxx.tar.gz 00
oooooooooobobooon

e JJUJDDDDDOOO(DOO)OO

e Emacs 00000000 ocaml OO O (inferior process) 000000000000
ooooooogon

00o0oooooooon
dddddddddddddddddd.ml 000000000 0OO0OOOOOOOOQ
0000 camlmode DO OODOOOO
O0000000oooooo0o¥830000M-x run-caml DO O OO0O0O0O0O0OOOOOemacs
Jdddddddd0dOd0d0o0d0ddddO0oO0oO0oO0oO0O0oO0o00O0O0O0OO0O0oOoOoOooOooOooao
00 M-p,Mn 00000000 O0OODODOODOOODO0ODOO0OOOOODOODODOOD
c-d(0000D0)00000 C-cCc-a0OOOd

ooon

[1] Xavier Leroy, Damien Doligez, Jacques Garrigue, Didier Rémy, and Jéréme Vouillon.
The Objective Caml system release 3.02: Documentation and user’s manual, 2001. http:
//pauillac.inria.fr/caml/ocaml/htmlman/index.html.
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O 3: caml-mode D OO QOQOQOQOOO

TAB goooooooon

M-C-qU QU

C-c C—q 00000000000 (0000000 oooooo)ooDooOoOoo

M-C-h ogooooogao

C-cw oo whileO O o

C-c t try U OO

C-cm match 00O 0O O

C-c 1 let 0O OO

C-c i ifoogg

C-c £ for OO0

C-c b begin 0 0 00O

M-x run-caml |occaml DO OO 0OO0O0O0OOO0OOOOOOOOOOO

M-C-x OO O[O

C-c C-e 00000 caml OOOOOOO

C-c C-r O0ododd caml DOOOOOO

C-c C-s caml DO O0O0OOOOOOOO

C-c ¢ caml D00 00000 O0O0O0OO0ODO0OOOO0OOOOOOO
gobdodoooobooouoooooobooouooood

C-c C-c doddooooooooooon

C-c C-d caml 00O 0O

M-p goodooooooooon

M-n dooooooooboooooooooa
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